
ρtu = 0.4
mA = 200 GeV (1 TeV) mA = 250 GeV (1 TeV)
Without interference With interference

Jet flavor identification 16 (55) 26 (46)
Nonprompt leptons 39 (13) 43 (13)

ttW background 33 (28) 35 (30)
Total signal modeling 20 (16) 7 (19)

Total background modeling 67 (56) 65 (59)
Total experimental 44 (56) 55 (50)

Statistical 57 (57) 52 (61)

ρtc = 0.4
Jet flavor identification 18 (47) 24 (48)

Nonprompt leptons 35 (14) 31 (14)
ttW background 32 (32) 34 (31)

Total signal modeling 14 (12) 16 (13)
Total background modeling 66 (62) 64 (61)

Total experimental 44 (50) 46 (52)
Statistical 61 (61) 60 (59)


